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FA SSUE L
M DHMASDIAMY ABA
ohelr A HEE QIR EE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 5,634
ONEBAHSE A2xd S20HAL)
8,000 x4 * 122 x 122 4,608
= 4,608
OIIFANSELR FHIRNE> 4,000
= 4,000
OII=2AHESLYRFE X § FL(S) 30,000
= 30,000
2 5234l 1,100 0 1,100
OJIE2AHNSELERNUE FUHERS 600
= 600
OIIEAHNSELER RUESER2= 500
= 500
202 04| 4,530 4,576 N6
= 4,530
01 2L AL 4,530 4,576 N6
ONESAHSEE A 0]
40,4002 %22+ 128 970
= 970
ON=BHES ULET SH(AILEH)
200,000 x5 *13] 1,000
= 1,000
ONETZY ALDK(SYLNYDSE)
320,000 x4 H+23] 2,560
= 2,560
IIEAASE AMElA XIS 24,212 23,663 549
101 @124H| 22,972 22,423 549
MU IIRINZZENSES 22,972 22,423 549
ONEZASEE S JIZHH 212 22,972
olles 80,3203 286 1 22,972
201 =3 1,240 1,240
01 AtR2t2lt] 1,240 1,240
OZct20IE3t0et 2E 340
OZctZ0I=AE A} 900
Ay 1S 4,611,260 2,645,246 1,966,014
= 580,081
= 117,000
Al 3,914,179
AHEEst & Makst 2,147,821 2,172,942 N25,121
= 580,081
= 80,000
Al 1,487,740
ANHSEH L & XM EE FH 77,342 62,817 14,525
201 er2 3| 54,472 39,737 14,735




2A:

M XN #E D8
Sl NEFES U M (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 20,970 19,320 1,650
OXHEZIEF(E2E)0E ¢ |2 16,800
OEXOISHEEA 23S 2 EHFY 2,250
OXHA SASA 7 920
ONFZZANET, NNTLBAN IREA
Hold & 1,000
2 s5=4g4l 33,502 20,417 13,085
OXNAEe R¥ER= S 1,000
OSRSUEESRAIAE AHKRXI 2]
(SWZZ &) 32,502
202 04| 870 1,080 A210
01 =LHOLI 870 1,080 A210
OEXOIS(XI8HE ) =& SRIEZAL O] 870
207 ARl 22,000 22,000
02 MAHHZHI 22,000 22,000
OXNESEAE datstz=al (M AsSA]) 22,000
0EXIOISAEA Hitat
500219, 100& 9,550
OXIHEY 2UE Ha
5,000&*2,490% 12,450
ASXHT HHl AL 200,000 0 200,000
= 100,000
== 40,000
Al 60,000
201 2= 200,000 0 200,000
= 100,000
= 40,000
Al 60,000
01 AtR2tc|HI 200,000 0 200,000
OdENAT &l 200,000
= 100,000
= 40,000
Al 60,000
212 0ISEEXN dHl 200,000 0 200,000
= 100,000
= 40,000
Al 60,000
201 fer23| 200,000 0 200,000
= 100,000
= 40,000
Al 60,000
01 At2teltl 200,000 0 200,000
O4+2 UISEEXN FH 200,000




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 100,000
=S 40,000
Al 60,000
IHEZBAIRIOE ZAHCKEA) 8,032 0 8,032
101 e124d| 8,032 8,032
M ORINZZ2NSE S 8,032 8,032
OMNESAIXIE ZAL =& 12
80,3202 100 +1 8,032
HESAIXIOE ZAHEZE) 142,889 171,436 N28,547
= 67,117
Al 75,772
201 Zet=3h] 137,889 158,596 A20,707
= 62,117
Al 75,772
01 AtR2tc|Hl 134,889 185,596 A20,707
OZEEI 85 =8 116,5%
= 56,533
Al 60,063
OEXNSEXAE HMSEX 2 8,490
OZ=2H B & d=+Y 1,619
OHNESAIXIL E2E =5 M=
60,0002 *x30JH*22] 3,600
OHNESAIXIL =& S201AMHI 4,584
= 4,584
02 s3=gHl 3,000 3,000 0
OMNESAIXIIAME & 012AH
RER= 3,000
= 1,000
Al 2,000
202 04l 5,000 5,000 0
= 5,000
01 =LHO LI 5,000 5,000 0
OMNESAIXI SEEAL 28 04| 5,000
= 5,000
HEFE=s Fot2tel 55,000 60,000 /5,000
201 =3 55,000 60,000 /5,000
01 At22t2l] 55,000 60,000 /5,000
ONgRes FUE=Al HLHIS MEZ
1,000,000 * 182 18,000
Oz 2EEIHMEIIER)
3.,000,000& 128] 36,000
OS3MHAEZBI (2RS4, X&) 1,000
K THZEAALS 1,121,540 1,121,932 A392
201 =3 60,040 61,932 A1,892




2A:

M XN #E D8
Sl NEFES U M (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 48,600 50,800 2,200
OXNHMZAL EE2E S+
60,0003 *5I1+23] 600
OXEMEAAY 257 (HELHS]) 1,000
OXHTHEAZZINES (E2F) &
30,000 x2008 6,000
OXNAEMEAY A8 & 2888 40,000
oglYg 8 === 1,000
02 S3=gHl 11,440 1,132 308
OXNHMEAL EXARA SX SIIRER
2,600&+1,100S+43] 11,440
301 22N = 1,060,000 1,060,000
14 JIEt2 = 1,060,000 1,060,000
OXIETHEAIAY 8= 1,060,000
405 AHaHE S 1,500 1,500
01 AL =S F = 1,500 1,500
OXNHMZAL BHEL SES 7Y 1,500
INESPYEVAUN 32 TS| 312,964 496,047 /183,083
= 312,964
201 er23| 19,926 29,751 A9,825
= 19,926
01 At 22|l 19,926 29,751 29,825
OXIETHZAALY JIEE 2=H| 8,023
= 8,023
OXIETHEAANG 2] 11,903
= 11,903
202 04t 3,000 3,000 0
= 3,000
01 SLHoIH 3,000 3,000 0
OXETEA HRFE 3,000
= 3,000
308 AHXIHMSO0IA 290,038 463,296 A173,258
= 290,038
18 SIS0t HAS A 290,038 463,296 A173,258
OXHMMEAAY =& 290,038
= 290,038
XA EXl2e AMHIA(EE) 30,04 30,312 2258
201 er2 3| 19,054 20,312 1,258
01 AtR2telHl 17,488 18,196 AT708
OXNA=EII=E &1 & FAl2c
140,000 *30& 4,200
OXH=g 2hE, NESREZAN
HREA el P2 1,000
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SelEn
NEREREE
SUEE & 2 MG (SH9 H2)
SA - B - SRI(EH) - HRAL - B A HIDEZ
02 SJ|2S0te iz 118,799 90,678 28,121
OFAFE ZelAAE(KAIS) XML 7= &
== 57,027
LHFARASUFAZE JI2Es 2l 61,772
405 AtatE = 1,500 1,500
01 TR =S FSHI 1,500 1,500
OAOIE KAIS HEH 1,500
FaTE CHUHAIEE &5 125,000 50,000 75,000
= 25,000
Al 100,000
401 AlZHIZ S0 125,000 50,000 75,000
= 25,000
Al 100,000
01 AlZH| 125,000 50,000 75,000
OF2ZEHMA #=
(=2H® 8) 125,000
== 25,000
Al 100,000
HARASE XS I EEHSE 23,000 57,323 AN34,323
= 6,900
Al 16,100
401 AlZHIZ SO 23,000 57,323 AN34,323
= 6,900
Al 16,100
01 Al&H| 23,000 57,323 N34,323
O=JH&gse &
=X 23,000
=S 6,900
Al 16,100
HARASE XS I EHSE 17,000 13,333 3,667
& 5,100
Al 11,900
401 AlZHIZL RO 17,000 13,333 3,667
= 5,100
Al 11,900
01 Al&H| 17,000 13,333 3,667
ONHASEXN S =N E 17,000
= 5,100
Al 11,900
ANEZS ZAH/EA BR= 81,430 81,430 0
201 er=3| 81,430 81,430
2 S22l 81,430 81,430
OGISMHIFXIZ2==HI (A 2 HN/SW) 81,430




FA SeUE L
M NN #F 78
el SUHEE X E2E A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XNSIAIE= H&ttAY 2,000,000 2,000,000
401 Al HIZL 201 2,000,000 2,000,000
01 Al&HI 2,000,000 2,000,000
O==2J(8t XIGIAIE= Hbtal SAAY 2,000,000
Hees(Seean) 3,363 2,367 9%
SHXE 3,363 2,367 9%
L=PSDNES 3,363 2,367 9%
802 gtet=J|IEt 3,363 2,367 9%
03 JIEtEtE =S 3,363 2,367 9%
ONgREs DIIHRE &= 3,363
HH2LZH(SELUAD) 98,425 102,709 N4,284
= 45,655
Al 52,770
el 23 62,655 62,655 0
= 45,655
Al 17,000
HEZAIXIOH ZAH IS 2FH]) 42,655 42,655 0
= 25,655
Al 17,000
101 @124H| 42,655 42,655 0
= 25,655
Al 17,000
03 BRA(RIH )22 U2+ 42,655 42,655 0
OMESAIXIL IVHA2 2L 2 42,655
= 25,655
Al 17,000
HAAMPUS#ZHIXIHA (L 2HHI) 20,000 20,000 0
= 20,000
101 @12A4H| 20,000 20,000 0
= 20,000
03 SR (RINAHA) 222+ 20,000 20,000 0
ONAESR 2IHA22 A 2= 20,000
= 20,000
J1I=28Hl 35,770 40,054 N4,284
Jl=2&H] 35,770 40,054 N4,284
201 el 26,950 29,944 A2,994
01 At22t2lt] 26,950 29,944 N2,994
O=AIEN F 3,564
OelH 29 7,600
OJIEF AtR2t2l8I 15,786
202 04| 240 240
01 =LHOLI 240 240
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